3 Al

SRL
CHRI(BIH) - MIRAY - B8 = Ao )= e bRz

5,167,009 4,887,662 279,347

= 804,500 810,078 75,578

| 1,163,200 1,163,200 0

= 3,199,309 2,914,384 284,925

s 23l 4,831,310 4,679,812 151,498

2 804,500 810,078 75,578

| 1,163,200 1,163,200 0

= 2,863,610 2,706,534 57,076

e 4,831,310 4,679,812 51,498

= 804,500 810,078 75,578

| 1,163,200 1,163,200 0

= 2,863,610 2,706,534 157,076

YSPXAS 29 2,850 3,000 A150

203 HRFAY| 2,850 3,000 A150

03 AIMEZARETY] 2,850 3,000 A150

ORSPIAYZT(HAEL) 2,850 3,000 A150

USAX A SYXY 180,995 174,100 6,895

sty 121,050 111,000 10,050

22|yl 34,200 36,000 A1,800

HASBHIINE BIHOIAR) 34,200 36,000 A1,800

2o 86,850 75,000 11,850

o olgAl BRI KM 15,600 0 15,600

SAYH IS HHE (HAED) 38,000 40,000 A2,000

HAYBEIIUE S8 (A=) 33,250 35,000 A1,750

5,795 6,100 £305

5,79 6,100 A305

ZEE ADE(0MED) 5,79 6,100 A305

SRR 54, 150 57,000 A2,850

SALALH EAD 54,150 57,000 A2,850

OolgAl IS (0 4E) 35, 150 37,000 A1,850

ORI A RAIITHE] EIH O A E ) 19,000 20,000 21,000

29 470,585 470,850 7265

1,140 1,200 A60

1,140 1,200 260

ABTHE 7Y S(HAME) 1,140 1,200 A60

bl 3,895 4,100 £205

Z3SH) 3,895 4,100 A205

2% SEIY(MLEY) 3,895 4,100 £205

R X 2 188,643 107,112 81,531

2 40,000 45,578 75,578

= 148,643 61,534 87,109
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FA: B AR
M YUUS YSIXES U8
CYl MBSXHE IS (=E L
S BB SR(SH) - HRAY - BAS 01l &k o p/E-T" HZ2
301 YptBaag 57,143 65,112 AT,969
= 40,000 45,578 N5,578
= 17,143 19,534 A2,391
12 JIEtE o= 57,143 65,112 AT,969
OAN =220 2 57,143 65,112 AT,969
= ES 20,008 27,977 AT,969
= 14,006 19,584 AN5,578
S 6,002 8,393 A 2,391
308 NXHHSOIH 20,000 15,000 5,000
01 MXEMIHNELS 20,000 15,000 5,000
Oodzagly gdst X& 5,000 0 5,000
403 AXIHHSA=201H 111,500 27,000 84,500
01 MXISMAZ2E = 111,500 27,000 84,500
ool Xt 74 69,500 0 69,500
OoAZALUU AIRA HES 15,000 0 15,000
SHHEAN H28 =8 5,937 6,250 A313
206 M=l 2,137 2,250 AT113
01 MHZdl 2,137 2,250 A113
OSHHZA ZHAIEHI (0l AR ) 2,137 2,250 A113
207 A I 3,800 4,000 A 200
03 AlE &+l 3,800 4,000 A200
OSITHEAE A3 (olaE2) 3,800 4,000 A 200
YSsAxEs Dty 66,450 2,500 63,950
206 M=l 36,000 0 36,000
01 M=Hl 36,000 0 36,000
OAEIHII7 =EZ SIHE D] 36,000 0 36,000
301 et ez 30,450 2,500 27,950
12 JIEtE o= 27,950 0 27,950
Ol HM MdIZAS 27,950 0 27,950
SEddH 29 2,850 3,000 A 150
405 KHAHFESHI 2,850 3,000 A 150
01 HARESF=H 2,850 3,000 A 150
Ofga Yoyl 2 (M=) 2,850 3,000 A150
Hegs(gdsa2xn) 137,622 0 137,622
28XE 137,622 0 137,622
S NEIAS LN 137,622 0 137,622
802 Btz JIEt 137,622 0 137,622
01 = EXSEES 137,622 0 137,622
OLSIAZZ0F HHTAH 137,622 0 137,622
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